A linearis kétismeretienes
egyenletrendszerek
megoldasa

Az clientet¢ egyutthatok
meodszere



Oldjuk meg a kovetkez6 egyenletrendszert:

L 2x6a3y=-7 /2
I, 3X+2y = -8 /(-3) > |l 3(2)+2y=-8
-6+2y=-8
l. 4=—14\ 2y = -8+6
Il. -9g6y)= 24 o
2y =-2
y_ﬁ
Il. -5x =10 2
10 y=-1
X=—
-5
X=-2

Meg,om (XI y)= ('21 -1 )
Ellensrgés: |- 2(-2)+3(1)=-4-3=7 v
. 3:(-2)+ 2:(-1) = -6-2=-8




Oldjuk meg a kovetkez6 egyenletrendszert:

. 3xCay=-34 /3
I 7x€6y=28 /2 > |l 7-(-2)+6y=28
D 14 + 6y = 28
. 9x(12y = -102 N\
=S 6y = 28+14
I 14xG12y = 56 J Y
+ 6y = 42
42
y=—
Il 23x =-46 6
_46 y=7
X=——0
23
X=-2

Meg,om (x’y)z(-2’7)
Ellendrzos: - 3(2)-47=-628=-34 v
I 72+ 6 7=-14+42=28 ¥




Oldjuk meg a kovetkez6 egyenletrendszert:

. y_x-1 _
> =3 /-6 l. -4x—-4\
X y-1 . 9-6y=-6/+
. —=—7 /6
2 3
II. 5x =-10
-1
| 63-1:62- x4 -10
21 (31j X=—
I g X _g2.| Y-l >
2, 3 X=-2
Meg,o:ldd/y (le)=(_2I_2)
l. 3y=2-(x-1 .
V=2l Ellens rzés:
. 3x=2:(y-1)
-2 -2-1
|, 3y=2x-2 > . 3y=2:(-2)-2 l. > =3 /
II. 3x=2y-2 3y=-4-2

. -4x+6y=-4

: -2 -2-1
. -2 3y=-6 5= 4
/-2 I
Il 3xE2y)=-2 /3 y=—
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